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1 Magnetic dipole for a circular loop & A
A circular wire with radius R carries current I. The goal i / L/ <
of this exercise is to determine the dipole magnetic vector B
potential at point P at a distance r from the origin. "‘cw /

netic vector potential at P from the four points where
ring intersects the axes. "
b) Evaluate the dipole magnetic vector potential at P pro- / /“'——D I,L’
duced by the entire loop. 2
c) Express the result in terms of the area of the loop. D

d) What would the dipole magnetic vector potential be at any location in the plane?

a) Determine the direction of the contribution to the mag- ( b\
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